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Cuadro 2 (continuación 4)/Table 2 (continued 4)
 Argentina: tablas abreviadas de mortalidada

Argentina: abridged life tables 
a

1990

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.029 0.029  100 000  2 851  97 587 0.970 b 6 811 402 68.1
1 4 0.001 0.005  97 149   452  387 382 0.996 c 6 713 815 69.1
5 5 0.000 0.002  96 697   198  482 989 0.998 6 326 433 65.4

10 5 0.000 0.002  96 499   219  481 945 0.996 5 843 444 60.6
15 5 0.001 0.005  96 279   475  480 208 0.994 5 361 499 55.7
20 5 0.001 0.007  95 804   697  477 277 0.992 4 881 290 51.0
25 5 0.002 0.008  95 107   763  473 628 0.991 4 404 013 46.3
30 5 0.002 0.009  94 344   881  469 519 0.989 3 930 385 41.7
35 5 0.003 0.013  93 463  1 219  464 269 0.983 3 460 866 37.0
40 5 0.004 0.020  92 244  1 878  456 526 0.974 2 996 597 32.5
45 5 0.007 0.033  90 366  2 959  444 434 0.958 2 540 071 28.1
50 5 0.011 0.052  87 407  4 511  425 759 0.935 2 095 638 24.0
55 5 0.016 0.078  82 896  6 485  398 268 0.905 1 669 879 20.1
60 5 0.024 0.114  76 411  8 700  360 305 0.863 1 271 610 16.6
65 5 0.036 0.164  67 711  11 105  310 791 0.801  911 305 13.5
70 5 0.055 0.241  56 606  13 642  248 923 0.716  600 514 10.6
75 5 0.082 0.341  42 964  14 658  178 174 0.595  351 591 8.2
80 5 0.136 0.503  28 306  14 225  105 967 0.451  173 417 6.1
85 5 0.198 0.643  14 081  9 050  47 781 0.327  67 450 4.8
90 5 0.269 0.758  5 032  3 814  15 623 0.227  19 669 3.9
95 5 0.336 0.834  1 218  1 015  3 550 0.122 d  4 046 3.3

100 ω 0.409 1.000   202   202   495   495 2.4
Mujeres/Females

0 1 0.023 0.023  100 000  2 285  98 089 0.976 b 7 525 550 75.3
1 4 0.001 0.004  97 715   412  389 730 0.997 c 7 427 461 76.0
5 5 0.000 0.002  97 303   148  486 144 0.999 7 037 732 72.3

10 5 0.000 0.001  97 155   143  485 415 0.998 6 551 587 67.4
15 5 0.001 0.003  97 011   245  484 446 0.997 6 066 172 62.5
20 5 0.001 0.003  96 767   321  483 031 0.996 5 581 726 57.7
25 5 0.001 0.004  96 446   402  481 223 0.995 5 098 695 52.9
30 5 0.001 0.005  96 044   522  478 913 0.993 4 617 472 48.1
35 5 0.002 0.008  95 522   754  475 722 0.990 4 138 559 43.3
40 5 0.002 0.011  94 767  1 089  471 115 0.986 3 662 837 38.7
45 5 0.003 0.017  93 679  1 559  464 494 0.980 3 191 722 34.1
50 5 0.005 0.024  92 119  2 234  455 011 0.970 2 727 228 29.6
55 5 0.007 0.035  89 885  3 176  441 485 0.956 2 272 217 25.3
60 5 0.011 0.052  86 709  4 545  422 182 0.933 1 830 732 21.1
65 5 0.017 0.082  82 164  6 706  394 055 0.891 1 408 549 17.1
70 5 0.029 0.138  75 458  10 397  351 300 0.822 1 014 494 13.4
75 5 0.050 0.224  65 062  14 598  288 813 0.704  663 194 10.2
80 5 0.097 0.389  50 464  19 610  203 294 0.549  374 381 7.4
85 5 0.156 0.553  30 854  17 066  111 604 0.401  171 087 5.5
90 5 0.231 0.701  13 788  9 659  44 790 0.278  59 483 4.3
95 5 0.299 0.795  4 129  3 282  12 438 0.153 d  14 693 3.6

100 ω 0.376 1.000   847   847  2 255  2 255 2.7

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


